The Fourier Transform with piecewise trigonometric kernels and its Applications

OLEG YAREMKO Penza State University Department of Mathematics 37 str. Lermontov, 440 26 Penza RUSSIA yaremki@mail.ru VLADIMIR SELUTIN Orel State University Department of Mathematics 95 str. Komsomolskaya, 440 26 Orel RUSSIA selutinvd@mail.ru NATALIA YAREMKO Penza State University Department of Mathematics 37 str. Lermontov, 440 26 Penza RUSSIA yaremki@yandex.ru

Abstract: In this paper, we develop a theory of the Fourier integral transforms with piecewise-homogeneous trigonometric kernels. Formulas for Integral transforms are obtained in a Hermite-type orthogonal polynomials series form. The resulting formulas are new for both the classical and piecewise- homogeneous cases. In the second part of the article method of Hermite-type orthogonal polynomials series expansion is used to solve the direct and inverse Cauchy problems for the heat equation in a piecewise- homogeneous medium. The inverse Cauchy problem is ill-posed and requires regularization. Formulas for solving direct and inverse Cauchy problems are obtained by the developed method and have advantages: first, they do not contain derivatives, can serve as a basis for regularizing algorithms , and secondly, these formulas are mutually symmetrical.

Key-Words: Fourier integral transform, heat equation, Cauchy problem, Hermite polynomials

1 Introduction

In the first part of the article we prove a new formulas for the direct and inverse Fourier integral transforms on the real axis with n contact points. The proof is based on the theory of orthogonal Hermite polynomials series. In the proof the generating function for the Hermite polynomials playes the key role. Initially, authors deduce a new formulas for the Fourier transforms on the bases of the Hermite-type polynomials series theory. Direct and inverse Fourier integral transforms are obtained as a series of biorthogonal system of Hermite-type polynomials and have a symmetry. Piecewise-homogeneous analogues of the Hermite polynomials played a key role in this construction. Then, new formulas for the direct and inverse Fourier integral transforms on the real axis with n contact points are constructed upon the Sturm - Liouville problem with piecewise-constant coefficients. Hermite- type polynomial is replaced the power function on its piecewise-homogeneous analog. We prove the Hermite-type polynomials and Hermite-type functions form a biorthogonal system.

New methods for direct and inverse Fourier integral transform for piecewise-homogeneous axis are developed in this article. Solutions of the problems are obtained in the form of Hermite- type polynomial series. A well-known classical Fourier integral transform in homogeneous axis are represented in the form of Dirichlet integral. In this case Dirichlet formula is proved on the basis of classical Fourier integral trasform method [14]-[16]. For our main results, we need to develop a Fourier integral trasforms with discontinuous coefficients and based on them to prove the expansion theorems in piecewise-homogeneous axis. Integral transforms with discontinuous coefficients are appeared in the mathematical literature in the 70th of the last century in the works of Uflyand Y.S. [1], Lenuk M.P. [2]; Nayda L.S. [3], Protsenko V.S. [4], [7].

Direct and adjoint Sturm-Liouville problems with inner contact conditions are considered, their solutions serve as a kernels of direct and inverse Fourier integral transforms with discontinuous coefficients. Expansion theorems are formulated.

We will use required information from the author's work [7]. First note that the structure of integral transforms with the relevant variables are determined by the type of differential equation and the kind of environment where the problem is considered. Therefore decision of integral transforms with discontinuous coefficients are the problem for mathematic modeling in piece-wise homogeneous axis. It is clear this method is an effective for obtaining the exact solution of boundary-value problems for piecewise homogeneous structures mathematical physics. In second part of the article the orthogonal Hermitetype polynomials series are used to solve the direct and inverse Cauchy problem for the heat equation in a piecewise-homogeneous medium. Formulas obtained by authors for inverse Cauchy problems solving in a piecewise homogeneous medium have symmetry with respect to the formulas for the corresponding direct Cauchy problems. In contrast to the classical formulas for the solution of the inverse Cauchy problem, the derivatives are not involved into new formulas. Thus, the new formulas for the inverse problems solving can serve as a basis for regularizing computational algorithms.

2 Integral Fourier transforms at the real axis

In order to prove the new formulas of direct and inverse Fourier transforms, we use well-known theorem [6] on the decomposition of functions into a Hermite polynomials series.

Theorem 1 If $f(x) \in L_2(-\infty, \infty)$, then then for each $\alpha > 0$ this function can be expanded into Hermite polynomials series

$$f(x) = \frac{\exp\left(-\frac{x^2}{8\alpha}\right)}{2\sqrt{\pi\alpha}} \sum_{j=0}^{\infty} \frac{1}{2^j j!} H_j\left(\frac{x}{2\sqrt{\alpha}}\right) f_j,$$

with coefficients:

$$f_j = \int_{-\infty}^{\infty} \exp\left(-\frac{\xi^2}{8\alpha}\right) H_j\left(\frac{\xi}{2\sqrt{\alpha}}\right) f\left(\xi\right) d\xi.$$

Now we can prove a new formula for the Fourier transform.

Theorem 2 Let $f(x) \in L_2(-\infty,\infty)$

$$F(\lambda) = \int_{-\infty}^{\infty} e^{-i\lambda x} f(x) \, dx \tag{1}$$

integral Fourier transform for f(x), then

$$F(\lambda) = 4\sqrt{\pi\alpha} \exp\left(-4\lambda^2\alpha\right) \cdot \\ \cdot \sum_{j=0}^{\infty} \frac{e^{i\frac{\pi}{2}j} f_j}{j!} \left(2\sqrt{\alpha}\right)^j H_j\left(2\sqrt{\alpha}\lambda\right), \quad (2)$$

where

$$f_j = \sum_{0 \le 2m \le j} \frac{C_j^{2m}}{(16\alpha)^{2m}} f^{(j-2m)}(0).$$

Proof. Let function

$$e^{\frac{x^{2}}{16\alpha}}f\left(x\right)$$

can be expanded into Taylor series for $x \in (-\infty, \infty)$

$$e^{\frac{x^2}{16\alpha}}f(x) = \sum_{j=0}^{\infty} \frac{f_j}{j!} x^j,$$

and

$$f_{j} = \left(e^{\frac{x^{2}}{16\alpha}}f(x)\right)^{(j)}(0) \\ = \sum_{0 \le 2k \le j} {j \choose 2p} \frac{(2p)!}{(16\alpha)^{2p}} f^{(j-2p)}(0),$$

then α -any positive. Substitute last formula in (1):

$$F(\lambda) = \int_{-\infty}^{\infty} e^{-\frac{x^2}{16\alpha}} e^{-i\lambda x} \sum_{j=0}^{\infty} \frac{f_j}{j!} x^j dx$$

Using the known formula of [6]

$$\int_{-\infty}^{\infty} e^{-\frac{x^2}{16\alpha}} e^{-i\lambda x} x^j dx = 4\sqrt{\pi\alpha} \exp\left(-4\lambda^2\alpha\right) \cdot e^{i\frac{\pi}{2}j} \left(2\sqrt{\alpha}\right)^j H_j\left(2\sqrt{\alpha}\lambda\right)$$

as a result we obtain a new formula for the Fourier image

$$F(\lambda) = 4\sqrt{\pi\alpha} \exp\left(-4\lambda^2\alpha\right) \cdot \\ \cdot \sum_{j=0}^{\infty} \frac{e^{i\frac{\pi}{2}j}f_j}{j!} \left(2\sqrt{\alpha}\right)^j H_j\left(2\sqrt{\alpha}\lambda\right), (3)$$

where

$$f_j = \left(e^{\frac{x^2}{16\alpha}}f(x)\right)^{(j)}(0).$$

Thus, formula (2) gives the Fourier transform in Hermite functions series form. Coefficients in (2) contain derivatives of the original at the point x = 0.

Based on Theorem 1, we prove another formula for the direct Fourier transform. The formula we obtain in Theorem 3, in contrast to (2) does not contain derivatives.

Theorem 3 Let
$$f(x) \in L_2(-\infty,\infty)$$

$$F(\lambda) = \int_{-\infty}^{\infty} e^{-i\lambda x} f(x) \, dx \tag{4}$$

integral Fourier transform for f(x), then

$$F(\lambda) = \sqrt{2}e^{-2\lambda^2\alpha} \sum_{j=0}^{\infty} \frac{i^j}{2^j j!} H_j\left(2\sqrt{\alpha}\lambda\right) f_j,$$

where

j

$$f_j = \int_{-\infty}^{\infty} \exp\left(-\frac{\xi^2}{8\alpha}\right) H_j\left(\frac{\xi}{2\sqrt{\alpha}}\right) f\left(\xi\right) d\xi.$$

Proof. From Theorem 2

$$F(\lambda) = \int_{-\infty}^{\infty} e^{-i\lambda x} f(x) dx$$

=
$$\int_{-\infty}^{\infty} e^{-i\lambda x} \frac{\exp\left(-\frac{x^2}{8\alpha}\right)}{2\sqrt{\pi\alpha}} \cdot \frac{\sum_{j=0}^{\infty} \frac{1}{2^j j!} H_j\left(\frac{x}{2\sqrt{\alpha}}\right) f_j dx,$$

where

$$f_j = \int_{-\infty}^{\infty} \exp\left(-\frac{\xi^2}{8\alpha}\right) H_j\left(\frac{\xi}{2\sqrt{\alpha}}\right) f\left(\xi\right) d\xi.$$

Hermite functions $e^{-\frac{x^2}{2}}H_j(x), j = 0, 1, ...$ are Fourier eigenfunctions with eigenvalues

$$c_j = \sqrt{2\pi} i^j, \quad j = 0, 1, ...,$$

so finally we have

$$F(\lambda) = \sqrt{2}e^{-2\lambda^2\alpha} \sum_{j=0}^{\infty} \frac{i^j}{2^j j!} H_j\left(2\sqrt{\alpha}\lambda\right) f_j.$$

This is desired.

Next, in Theorem 4 we shall prove a new formula for the inverse Fourier transform. Note that the wellknown formula for the inverse Fourier transform (1) has the form:

$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{i\lambda x} F(\lambda) \, d\lambda.$$

Reasoning as in the proof of Theorems 2 and 3 lead to a new inverse Fourier formula.

Theorem 4 Let $f(x) \in L_2(-\infty, \infty)$ and $F(\lambda)$ its integral Fourier transform. Then the inverse formula

$$f(x) = \frac{\exp\left(-\frac{x^2}{4\alpha}\right)}{2\sqrt{\pi\alpha}} \sum_{j=0}^{\infty} \frac{e^{i\frac{\pi}{2}j}}{\left(2\sqrt{\alpha}\right)^j j!} H_j\left(\frac{x}{2\sqrt{\alpha}}\right) F_j$$

holds true, where

$$e^{\lambda^{2}\alpha}F(\lambda) = \sum_{j=0}^{\infty} \frac{F_{j}}{j!}\lambda^{j},$$

$$F_{i} = \left(e^{\lambda^{2}\alpha}F(\lambda)\right)^{(j)}(0) =$$
(5)

$$= \sum_{0 \le 2s \le j} C_j^{2s} \alpha^{2s} F^{(j-2s)}(0) \,.$$

Corollary 5 If

$$m_j = \int_{-\infty}^{\infty} x^j f(x) \, dx \tag{6}$$

j – moment of function f(x), then the solution of the moment problem has the form

$$f(x) = \frac{\exp\left(-\frac{x^2}{4\alpha}\right)}{2\sqrt{\pi\alpha}} \sum_{j=0}^{\infty} \frac{(-1)^j}{(2\sqrt{\alpha})^j j!} H_j\left(\frac{x}{2\sqrt{\alpha}}\right) \cdot \sum_{0 \le 2s \le j} (-1)^s C_j^{2s} \alpha^{2s} m_{2s-j}.$$

Example 1. If

$$F\left(\lambda\right) = e^{-\lambda^{2}\alpha}\lambda^{m}, m = 0, 1, ...,$$

then due to (13), we obtain the value of the original

$$f(x) = \frac{\exp\left(-\frac{x^2}{4\alpha}\right)}{2\sqrt{\pi\alpha}} \frac{e^{i\frac{\pi}{2}m}}{(2\sqrt{\alpha})^m} H_m\left(\frac{x}{2\sqrt{\alpha}}\right).$$

In conclusion of this section we give next new formula for the Fourier inversion.

Theorem 6 Let $f(x) \in L_2(-\infty, \infty)$ and $F(\lambda)$ its integral Fourier transform then the Fourier inversion formula

$$f(x) = \frac{1}{\pi\sqrt{2}} e^{-\frac{x^2}{8\alpha}} \sum_{j=0}^{\infty} \frac{e^{-i\frac{\pi}{2}m}}{2^j j!} H_j\left(\frac{x}{2\sqrt{\alpha}}\right) F_j,$$

holds true, where

$$F_{j} = \int_{-\infty}^{\infty} \exp\left(-2\lambda^{2}\alpha\right) H_{j}\left(2\sqrt{\alpha}\lambda\right) F\left(\lambda\right) d\lambda.$$

3 Fourier integral transforms with non- separated variables. New expansion theorems

The author's has proposed integral transforms with non-separated variables for solving multidimensional problems [7]. Let V from R^{n+1} be the half-space

$$V = \left\{ (y_1, ..., y_n, x) \in R^{n+1} : x > 0 \right\},\$$

then solution of the Dirichlet's problem for the halfspace is expressed by Poisson formula: [17]

$$u(x,y) = \Gamma\left(\frac{n+1}{2}\right) \pi^{-\frac{n+1}{2}}.$$

$$\int_{y=0}^{\infty} \frac{x}{\left[(y-\eta)^2 + x^2\right]^{\frac{n+1}{2}}} f(\eta) d\eta.$$

Obviously Poisson's kernel has the form of integral Laplace transform:

$$\begin{split} &\Gamma\left(\frac{n+1}{2}\right)\pi^{-\frac{n+1}{2}}\frac{x}{\left[x^{2}+(y-\eta)^{2}\right]^{\frac{n+1}{2}}} = \\ &= \left(\frac{1}{2\pi}\right)^{\frac{n}{2}}\int_{0}^{\infty}\lambda^{\frac{n}{2}}e^{-\lambda x}\frac{J_{\frac{n-1}{2}}\left(\lambda\left|y-\eta\right|\right)}{\left|y-\eta\right|^{\frac{n-2}{2}}}d\lambda, \end{split}$$

here J_{ν} is Bessel's function of order ν [18]. Reproduce property of the Poisson kernel is obtained from the expansion of the function f(y) by the Laplace operator Δ eigenfunctions:

$$f(y) = \int_{0}^{\infty} \frac{\lambda^{\frac{n}{2}}}{\left(\sqrt{2\pi}\right)^{n}} \int_{R^{n}} \frac{J_{\frac{n-2}{2}}\left(\lambda |y-\eta|\right)}{|y-\eta|^{\frac{n-2}{2}}} f(\eta) \, d\eta d\lambda.$$
(7)

On the basis of this expansion we may conclude that integral transforms with non- separated variables are defined as follows [19]:

Direct integral Fourier transform has the form

$$F[f](y,\lambda) \equiv \hat{f}(y,\lambda) =$$

$$= \frac{1}{\left(\sqrt{2\pi}\right)^{n}} \int_{\mathbb{R}^{n}} \frac{J_{\frac{n-2}{2}}(\lambda |y-\eta|)}{|y-\eta|^{\frac{n-2}{2}}} f(\eta) \, d\eta, \quad (8)$$

inverse Fourier integral transform has the form

$$F^{-1}[\hat{f}](y) = \int_{0}^{\infty} \lambda^{\frac{n}{2}} \hat{f}(y;\lambda) d\lambda \equiv f(y).$$
(9)

Now we get new formula. To do this, formula (7) can be written in the form

$$f(y) = \sqrt{\frac{2}{\pi}} \frac{1}{(\sqrt{2\pi})^n} \int_0^\infty e^{-\lambda^2 \beta} \lambda^{n-1} \cdot \int_{\mathbb{R}^n} e^{\lambda^2 \beta} j_{\frac{n-2}{2}}(\lambda |y-\eta|) f(\eta) \, d\eta d\lambda,$$

where $\beta > 0, j_{\alpha}(z) = \sqrt{\frac{2}{\pi}} \frac{J_{\alpha}(z)}{z^{\alpha}}.$

Use a Taylor series expansion with respect to λ

$$e^{\lambda^2\beta}j_{\alpha}(\lambda x) = \sum_{j=0}^{\infty} \frac{(-1)^j \lambda^{2j}}{(2j)!} \beta^j H_{2j}^{\alpha}\left(\frac{x}{2\sqrt{\beta}}\right).$$
(10)

where

$$H_{2j}^{\alpha}(x) = \sum_{p=0}^{j} \frac{(-1)^{j-p}(2j)!}{2^{\alpha+\frac{1}{2}}(j-p)!\Gamma(2j+\alpha+\frac{3}{2})} (2x)^{2j}.$$

In view of (10) we get

$$f(y) = \sqrt{\frac{2}{\pi}} \frac{1}{(\sqrt{2\pi})^n} \int_0^\infty e^{-\lambda^2 \beta} \lambda^{n-1} \cdot \int_{\mathbb{R}^n} \sum_{j=0}^\infty \frac{(-1)^j \lambda^{2j}}{(2j)!} \beta^j H_{2j}^\alpha \left(\frac{|y-\eta|}{2\sqrt{\beta}}\right) f(\eta) \, d\eta d\lambda$$

To simplify last formula, we change the order of integration and compute the inner integral with respect to λ . Then we get new analytical representation for f(x)

$$f(y) = \sum_{j=0}^{\infty} \frac{(-1)^j \,\Gamma(\frac{n}{2}+j)}{(2j)!} f_{2j}, \qquad (11)$$

where

$$f_{2j} = \frac{1}{(\sqrt{2\pi})^{n+1}\beta^{\frac{n}{2}}} \int_{R^n} H_{2j}^{\alpha} \left(\frac{|y-\eta|}{2\sqrt{\beta}}\right) f(\eta) \, d\eta,$$

 Γ -gamma function [20].

4 Vector Fourier transform with discontinuous coefficients

Let's develop the method of vector Fourier transform for the solution this problem. Let's consider Sturm– Liouville vector theory [7] about a design bounded on the set of nontrivial solution of separate simultaneous ordinary differential equations with constant matrix coefficients

$$\left(A_m^2 \frac{d^2}{dx^2} + \lambda^2 \mathbf{E}\right) y_m = 0, m = \overline{1, n+1}, \quad (12)$$

where E-unit matrix size $r \times r$. On the boundary conditions

$$||y_1|||_{x=-\infty} < \infty, ||y_{n+1}|||_{x=\infty} < \infty$$
 (13)

and conditions of the contact in the points of conjugation of intervals

$$\left(\left(\alpha_{j1}^{k} + \lambda^{2} \delta_{j1}^{k} \right) \frac{d}{dx} + \left(\beta_{j1}^{k} + \lambda^{2} \gamma_{j1}^{k} \right) \right) y_{k} =$$

$$= \left(\left(\alpha_{j2}^{k} + \lambda^{2} \delta_{j2}^{k} \right) \frac{d}{dx} + \left(\beta_{j2}^{k} + \lambda^{2} \gamma_{j2}^{k} \right) \right) y_{k+1},$$

$$x = l_{k}, \ k = \overline{1, n}, \ j = 1, 2.,$$

$$(14)$$

where

$$y_{m}(x,\lambda) = \begin{pmatrix} y_{1m}(x,\lambda) \\ \vdots \\ y_{rm}(x,\lambda) \end{pmatrix}$$

E-ISSN: 2224-2880

$$||y_m|| = \sqrt{y_{1m}^2 + \dots + y_{rm}^2}, \ m = \overline{1, n+1}.$$

For some λ , the boundary problem under consideration has a nontrivial solution

$$y(x,\lambda) = \sum_{k=1}^{n+1} \theta(x - l_{k-1}) \theta(l_k - x) y_k(x,\lambda).$$

The number λ is called an Eigenvalue in this case, and the corresponding decision $y(x, \lambda)$ is called vector-valued Eigenfunction.

$$\alpha_{11}^0, \beta_{11}^0, \gamma_{11}^0, \delta_{11}^0, \alpha_{ji}^k, \beta_{ji}^k, \gamma_{ji}^k, \delta_{ji}^k, A_j -$$

are matrices of the size $r \times r$. We shall require invertibility

det
$$M_{mk} \neq 0, \ \lambda \in (-\infty, \infty)$$
 (15)

for matrixes

$$M_{mk} \equiv \begin{pmatrix} \beta_{1m}^k + \lambda^2 \gamma_{1m}^k & \alpha_{1m}^k + \lambda^2 \delta_{1m}^k \\ \beta_{2m}^k + \lambda^2 \gamma_{2m}^k & \alpha_{2m}^k + \lambda^2 \delta_{2m}^k \end{pmatrix},$$
$$m = 1, 2; \ k = \overline{1, n}.$$

Matrices A_m^2 , $m = \overline{1, n+1}$, are positive-defined [21]. We denote

$$\Phi_{n+1}(x) = e^{q_{n+1}xi}; \ \Psi_{n+1}(x) = e^{-q_{n+1}xi} .$$
$$q_{n+1}^2 = \lambda^2 A_{n+1}^{-2}.$$

Define the induction relations the others *n*-pairs a matrix-importance functions (Φ_k, Ψ_k) , k = 1, n:

$$\begin{bmatrix} \left(\alpha_{j1}^{k} + \lambda^{2}\delta_{j1}^{k}\right)\frac{d}{dx} + \left(\beta_{j1}^{k} + \lambda^{2}\gamma_{j1}^{k}\right) \end{bmatrix} (\Phi_{k}, \Psi_{k}) = \\ \begin{bmatrix} \left(\alpha_{j2}^{k} + \lambda^{2}\delta_{j2}^{k}\right)\frac{d}{dx} + \left(\beta_{j2}^{k} + \lambda^{2}\gamma_{j2}^{k}\right) \end{bmatrix} (\Phi_{k+1}, \Psi_{k+1}), \\ k = \overline{1, n}, \quad j = \overline{1, 2}$$
 (16)

Let us introduce the following notation

$$\Omega_k = \begin{pmatrix} \Phi_k & \Psi_k \\ \Phi'_k & \Psi'_k \end{pmatrix}, \quad i = \overline{1, n+1}.$$

Theorem 7 The spectrum of the problem (12), (13), (14) is a continuous and fills all axis $(-\infty, \infty)$. Sturm–Liouville theory r time is degenerate. To each Eigenvalue λ corresponds to exactly r linearly independent vector-valued functions. As the last it is possible to take r columns matrix-importance functions.

$$v(x,\lambda) = \sum_{k=1}^{n+1} \theta(x - l_{k-1}) \theta(l_k - x) v_k(x,\lambda),$$

That is

$$y^{m}(x,\lambda) = \begin{pmatrix} v_{1m}(x,\lambda) \\ \vdots \\ v_{rm}(x,\lambda) \end{pmatrix}.$$

 $v_{j}(x,\lambda) = \Psi_{j}(x,\lambda).$

(17)

Dual Sturm–Liouville theory consists in a finding of the non-trivial solution of separate simultaneous ordinary differential equations with constant matrix coefficients.

$$\left(A_m^2 \frac{d^2}{dx^2} + \lambda^2 \mathbf{E}\right) y_m^* = 0, \quad , m = \overline{1, n+1} \quad (18)$$

on the boundary conditions

$$||y_1^*|| < \infty, ||y_{n+1}^*|| < \infty,$$
 (19)

and conditions of the contact in the points of conjugation of intervals

$$\begin{pmatrix} -\frac{d}{dx}y_{k}^{*}, y_{k}^{*} \end{pmatrix} \begin{pmatrix} \beta_{11}^{k} + \lambda^{2}\gamma_{11}^{k} & \alpha_{11}^{k} + \lambda^{2}\delta_{11}^{k} \\ \beta_{21}^{k} + \lambda^{2}\gamma_{21}^{k} & \alpha_{21}^{k} + \lambda^{2}\delta_{21}^{k} \end{pmatrix}^{-1}$$

$$= \begin{pmatrix} -\frac{d}{dx}y_{k+1}^{*}, y_{k+1}^{*} \end{pmatrix} \cdot$$

$$\cdot \begin{pmatrix} \beta_{12}^{k} + \lambda^{2}\gamma_{12}^{k} & \alpha_{12}^{k} + \lambda^{2}\delta_{12}^{k} \\ \beta_{22}^{k} + \lambda^{2}\gamma_{22}^{k} & \alpha_{22}^{k} + \lambda^{2}\delta_{22}^{k} \end{pmatrix}^{-1}, \qquad (20)$$

$$x = l_{k}, \quad k = \overline{1, n}$$

The solution of the boundary value problem we write in the form of

$$y^{*}(\xi,\lambda) = \sum_{k=1}^{n+1} \theta(\xi - l_{k-1}) \theta(l_{k} - \xi) y^{*}_{k}(\xi,\lambda),$$

$$y^{*}_{m}(\xi,\lambda) = \left(\begin{array}{c} y^{*}_{m1}(\xi,\lambda) & \cdots & y^{*}_{mr}(\xi,\lambda) \end{array} \right),$$

$$\|y^{*}_{m}\| = \sqrt{(y^{*}_{1m})^{2} + \dots + (y^{*}_{rm})^{2}}, m = \overline{1, n+1}.$$

Theorem 8 The spectrum of the problem (18), (19), (20) is a continuous and fills axis $(-\infty, \infty)$. Sturm– Liouville theory r time is degenerate. To each Eigenvalue λ corresponds to exactly r linearly independent vector-valued functions. As the last it is possible to take r rows matrix-importance functions.

$$v^{*}(x,\lambda) = \sum_{k=1}^{n+1} \theta(x - l_{k-1}) \ \theta(l_{k} - x) \ v^{*}_{k}(x,\lambda),$$
$$v^{*}_{j}(x,\beta) = (E,0) \ \Omega_{j}^{-1}(x,\beta) \begin{pmatrix} 0\\ E \end{pmatrix} A_{j}^{-2},$$

That is

$$y^{*j}(\xi,\lambda) = \left(\begin{array}{cc} v_{j1}^*(\xi,\lambda) & \cdots & v_{jr}^*(\xi,\lambda) \end{array}\right), j = \overline{1,r}.$$
(21)

The existence of spectral functions $u(x, \lambda)$ and the conjugate spectral function $u^*(x, \lambda)$ allows to write the a vector decomposition theorem on the set of I_n^+ .

Theorem 9 Let the vector-valued function f(x) be defined on I_n continuous, absolutely integrated and have the bounded total variation. Then for any $x \in I_n$ the following formula decomposition is true:

$$f(x) = -\frac{1}{\pi i} \int_{-\infty}^{\infty} v(x,\lambda) \left(\int_{-\infty}^{\infty} v^*(\xi,\lambda) f(\xi) d\xi + \sum_{k=1}^{n} (\mathbf{E},0) \Omega_k^{-1}(l_k,\lambda) M_{k1}^{-1}(\lambda) \cdot (N_2 - N_1) \right) \lambda d\lambda,$$
$$N_i = \left(\begin{array}{c} \gamma_{1+i1}^k & \delta_{1+i1}^k \\ \gamma_{1+i2}^k & \delta_{1+i2}^k \end{array} \right) \left(\begin{array}{c} f_{k+i-1}(l_k) \\ f'_{k+i-1}(l_k) \end{array} \right). \quad (22)$$

The decomposition theorem allows to enter the direct and inverse matrix integral Fourier transform on the real axis with conjugation points:

$$F_{n}[f](\lambda) \equiv \tilde{f}(\lambda) = \int_{-\infty}^{\infty} v^{*}(\xi,\lambda) f(\xi) d\xi + \sum_{k=1}^{n} (E,0) \Omega_{k}^{-1}(l_{k},\lambda) M_{k1}^{-1}(\lambda) \cdot (N_{2} - N_{1})$$
(23)

and

$$F_n^{-1}\left[\tilde{f}\right](x) = -\frac{1}{\pi i} \int_{-\infty}^{\infty} \lambda v(x,\lambda) \ \tilde{f}(\lambda) \, d\lambda, \quad (24)$$

when

$$f(x) = \sum_{k=1}^{n+1} \theta(l_k - x) \ \theta(x - l_{k-1}) \ f_k(x).$$

Let's result the basic identity of integral transform of the differential operator

$$B = \sum_{j=1}^{n} \theta \left(x - l_{j-1} \right) \, \theta \left(l_{j} - x \right) A_{j}^{2} \frac{d^{2}}{dx^{2}}$$

Theorem 10 If vector-valued function

$$f(x) = \sum_{k=1}^{n+1} \theta(x - l_{k-1}) \theta(l_k - x) f_k(x),$$

is three times continuously differentiable on the set, and the limit values together with its derivatives up to the third order inclusive satisfies to the boundary condition on infinity

$$\lim_{x \to \infty} \left(u^* \left(x, \lambda \right) \frac{d}{dx} f\left(x \right) - \frac{d}{dx} u^* \left(x, \lambda \right) f\left(x \right) \right) = 0$$

and homogeneous conditions of conjugation (14), that basic identity of integral transform of the differential operator B hold

$$F_n[B(f)](\lambda) = -\lambda^2 \tilde{f}.$$
 (25)

The proofs of Theorems 7–10 are spent by a method of the method of contour integration. Similarly presented to work of the author [7].

5 Piece-wise homogeneous analogues of Hermite polynomials and Hermite functions

Definition 11 *Right and left analogs of power function are defined by formulas*

$$\xi_n^{*k} = i^k D_\lambda^k v^* \left(\xi, 0\right), x_n^k = (-i)^k D_\lambda^k v \left(x, 0\right).$$

respectively.

The function $e^{\lambda^2 \beta} v^*(\xi, \lambda)$ is a generating function for Hermite polynomials [6] with piece-wise constants coefficients, this means that

$$e^{\lambda^2 \beta} v^*(\xi, \lambda) = \sum_{j=0}^{\infty} \frac{(-i\lambda)^j}{j!} H^*_{j,n}(\xi, \beta).$$
 (26)

Definition 12 The Hermite piece-wise polynomials are called the the sequence of functions $H_{j,n}^*(z,\beta)$ from (26).

In the homogeneous case

$$v^*(\xi,\lambda) = e^{-i\lambda\xi},$$
$$H^*_{j,0}(\xi,\beta) = \beta^{\frac{j}{2}} H_j\left(\frac{\xi}{2\sqrt{\beta}}\right),$$

where $H_j(z)$ is classical Hermite polynomial [6]. Expansion of piece-wise homogeneous analogues of Hermite polynomials on the right piece-wise analogues of the power function is followed from Definitions 11 and 12.

Theorem 13 If

$$H_{j,0}^*(\xi,\beta) = \sum_{k=0}^j h_{k,j}\xi^k$$

is an expansion of Hermite polynomial with respect to ξ , then for their piece-wise analogues $H_{j,n}^*(\xi,\beta)$, the representation

$$H_{j,n}^*(\xi,\beta) = \sum_{k=0}^{j} h_{k,j} \xi_n^{*k}$$

is true.

Definition 14 For each fixed j = 0, 1, 2, ..., we define a piece-wise analogue of Hermite function $H_{j,n}(x,\beta), j = 0, 1, 2, ...$ as follows:

$$\frac{1}{2\pi} \int_{-\infty}^{\infty} (-i\lambda)^{j} e^{-\lambda^{2}\beta} v\left(x,\lambda\right) d\lambda = H_{j,n}\left(x,\beta\right).$$
(27)

In the homogeneous case, we have

$$\begin{split} v\left(x,\lambda\right) &= e^{i\lambda x},\\ H_{j,0}\left(x,\beta\right) &= \frac{e^{-\frac{x^2}{4(\beta)}}}{2\sqrt{\pi\beta}} \frac{1}{(2\sqrt{\beta})^j} H_j\left(\frac{x}{2\sqrt{\beta}}\right), \end{split}$$

where $H_j(z)$ is classical Hermite polynomial [6]. Expansion of piece-wise analogues of Hermite polynomials on the left piece-wise analogues of the power function is followed From Definitions 11 and 12.

Theorem 15 If

$$H_{j,0}(x,\beta) = \sum_{k=0}^{\infty} h_{k,j} x^k$$

is the expansion of the Hermite function into Taylor series with respect to x, then for its piece-wise analogue $H_{j,n}(x,\beta)$, the representation

$$H_{j,n}(x,\beta) = \sum_{k=0}^{\infty} h_{k,j} x_n^k.$$

holds true.

Theorem 16 System of functions $H_{j,n}(x,\beta)$, $H_{k,n}^*(x,\beta)$ is biorthogonal, i.e.,

$$\int_{-\infty}^{\infty} H_{j,n}(x,\beta) H_{k,n}^*(x,\beta) dx = \delta_{j,k}.$$

Proof. Consider the integral

$$\int_{-\infty}^{\infty} H_{j,n}(x,\beta) e^{s^2 \beta} v^*(\xi,s) \, dx$$
$$= \int_{-\infty}^{\infty} \frac{1}{2\pi} \int_{-\infty}^{\infty} (-i\lambda)^j e^{-\lambda^2 \beta} \cdot v(x,\lambda) \, d\lambda e^{s^2 \beta} v^*(x,s) \, dx.$$

Changing the order of integration and applying the decomposition theorem, we obtain the equality

$$\int_{-\infty}^{\infty} H_{j,n}(x,\beta) e^{s^2 \beta} v^* \left(\xi,s\right) \, dx = (-is)^j.$$

To complete the proof we use equation (27) and the uniqueness of Taylor's expansion. The theorem is proved. $\hfill \Box$

6 New expansion theorems

We use the well-known expansion theorem for function f(x) in Fourier integral form [7]:

$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} v(x,\lambda) \cdot \left(\int_{-\infty}^{\infty} v^*(\xi,\lambda) f(\xi) d\xi \right) d\lambda.$$
(28)

Write the last equality in the form

$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2 \beta} v(x, \lambda) \cdot \left(\int_{-\infty}^{\infty} e^{\lambda^2 \beta} v^*(\xi, \lambda) f(\xi) d\xi \right) d\lambda, \quad (29)$$

where $\beta > 0$.

In accordance with (26), formula (29) takes the form

$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2 \beta} v(x, \lambda) \cdot$$
$$\sum_{j=0}^{\infty} \frac{(-i\lambda)^j}{j!} \int_{-\infty}^{\infty} H_{j,n}^*(\xi, \beta) f(\xi) d\xi d\lambda.$$

Then we use definition 12 and finally get new analytical representation at the point x

$$f(x) = \sum_{j=0}^{\infty} H_{j,n}(x,\beta) \, \frac{f_j}{j!},$$
 (30)

where

$$f_j = \int_{-\infty}^{\infty} H_{j,n}^*\left(\xi,\beta\right) f\left(\xi\right) d\xi.$$

We get a new expansion theorem. Classical expansion theorem takes the form

$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{\lambda^2 \tau} v(x, \lambda) \cdot \left(\int_{-\infty}^{\infty} v^*(\xi, \lambda) u(\tau, \xi) d\xi \right) d\lambda.$$

If $\beta > 0$, then the last formula takes the form

$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2 \beta} e^{\lambda^2 \beta} v(x, \lambda) \cdot$$

$$\left(\int_{-\infty}^{\infty} v^*\left(\xi,\lambda\right) u\left(\tau,\xi\right) d\xi\right) d\lambda.$$
 (31)

Because of formula (26) we get

$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2 \beta} v(x, \lambda) \cdot \cdot \sum_{j=0}^{\infty} \frac{(-i\lambda)^j}{j!} \int_{-\infty}^{\infty} H_{j,n}^*(\xi, \beta) f(\xi) \, d\xi d\lambda.$$

We shall change the order of integration and calculate the inner integral with respect to λ . On the basis of (27) we can write

$$\frac{1}{2\pi} \int_{-\infty}^{\infty} (-i\lambda)^{j} e^{-\lambda^{2}\beta} v(x,\lambda) \, d\lambda = H_{j,n}(x,\beta) \, .$$

Finally, second new expansion theorem takes the form

$$f(x) = \sum_{j=0}^{\infty} H_{j,n}(x,\beta) \frac{f_j}{j!},$$
 (32)

where

$$f_{j} = \int_{-\infty}^{\infty} H_{j,n}^{*}\left(\xi,\beta\right) f\left(\xi\right) d\xi$$

Now we get third new formula. To do this, formula (28) can be written in the form

$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2 \beta} \cdot \left(\int_{-\infty}^{\infty} e^{\lambda^2 \beta} v(x,\lambda) v^*(\xi,\lambda) f(\xi) d\xi \right) d\lambda,$$

where $\beta > 0$.

Use a Taylor series expansion with respect to λ

$$e^{\lambda^{2}\beta}v(x,\lambda)v^{*}(\xi,\lambda) = \sum_{j=0}^{\infty} \frac{(-i\lambda)^{j}}{j!}H_{j,n}(x,\xi,\beta).$$
(33)

In the homogeneous case we have

$$v(x,\lambda)v^*(\xi,\lambda) = e^{-i\lambda(\xi-x)},$$
$$H_{j,n}(x,\xi,\beta) = \beta^{\frac{j}{2}}H_j\left(\frac{\xi-x}{2\sqrt{\beta}}\right),$$

where $H_j(z)$ is the classical Hermite polynomial. Let

$$H_{j,0}(\xi - x, \beta) = \sum_{k=0}^{j} h_{k,j} \sum_{\alpha + \beta = k} (-1)^{\beta} \frac{(\alpha + \beta)!}{\alpha!\beta!} \xi^{\alpha} x^{\beta}$$

be Hermite polynomial expansion on powers ξ, x . Then for their piece-wise homogeneous analogues $H_{j,n}(\xi, x, \beta)$, so called Hermite-type polynomials, we have the representation

$$H_{j,n}(\xi, x, \beta) = \sum_{k=0}^{j} h_{k,j} \sum_{\alpha+\beta=k} (-1)^{\beta} \frac{(\alpha+\beta)!}{\alpha!\beta!} \xi_n^{*\alpha} x_n^{\beta}$$

In view of (10) we get

$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2 \beta} \sum_{j=0}^{\infty} \frac{(-i\lambda)^j}{j!} \cdot \int_{-\infty}^{\infty} H_{j,n}(x,\xi,\beta) f(\xi) d\xi d\lambda.$$

To simplify last formula, we change the order of integration and compute the inner integral with respect to λ , substitute x = 0 in (33). Then

$$\frac{1}{2\pi} \int_{-\infty}^{\infty} (-i\lambda)^j e^{-\lambda^2 \beta} d\lambda = \frac{1}{(2\sqrt{\beta})^{j+1}} H_j(0) \,. \tag{34}$$

Taking into account the known formula from [6]

$$H_{2j}(0) = \frac{(-1)^n (2n)!}{2^n n!}, H_{2j+1}(0) = 0.$$
(35)

we get finally new analytical representation for f(x)

$$f(x) = \sum_{j=0}^{\infty} \frac{1}{(2\sqrt{\beta})^{2j+1}} \frac{(-1)^j f_{2j}}{2^j j!}, \qquad (36)$$

where

$$f_{2j} = \int_{-\infty}^{\infty} H_{2j,n}(x,\xi,\beta) f(\xi) d\xi$$

7 Cauchy problem for the heat equation.

For solution $u(\tau, x)$ of Cauchy problem [7],[8],[10] with the initial thermal field f(x) for an piece-wise homogeneous infinite bar, we shall get as Hermite-type polynomial series. In order to get this result, we use the well-known analytic solution $u(\tau, x)$ in Fourier integral form [7]:

$$u(\tau, x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2 \tau} v(x, \lambda) \cdot \left(\int_{-\infty}^{\infty} v^*(\xi, \lambda) f(\xi) d\xi \right) d\lambda,$$
(37)

where f(x) is the initial thermal field, $u(\tau, x)$ is thermal field at time τ and in the point x.

Write the last equality in the form

$$u(\tau, x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2 (\tau + \beta)} v(x, \lambda) \cdot \left(\int_{-\infty}^{\infty} e^{\lambda^2 \beta} v^*(\xi, \lambda) f(\xi) d\xi \right) d\lambda, \quad (38)$$

where $\beta > 0$.

In accordance with (26), formula (38) takes the form

$$u(\tau, x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2(\tau+\beta)} v(x, \lambda) \cdot \sum_{j=0}^{\infty} \frac{(-i\lambda)^j}{j!} \int_{-\infty}^{\infty} H_{j,n}^*(\xi, \beta) f(\xi) d\xi d\lambda.$$

Then we use definition 12 and finally get new analytical representation for the thermal field in time τ and at the point x

$$u(\tau, x) = \sum_{j=0}^{\infty} H_{j,n} \left(x, \tau + \beta \right) \frac{f_j}{j!},$$
 (39)

where

$$f_j = \int_{-\infty}^{\infty} H_{j,n}^*\left(\xi,\beta\right) f\left(\xi\right) d\xi.$$

Now we get the second new formula. To do this, formula (38) can be written in the form

$$u(\tau, x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2(\tau+\beta)} \cdot \left(\int_{-\infty}^{\infty} e^{\lambda^2 \beta} v(x, \lambda) v^*(\xi, \lambda) f(\xi) d\xi \right) d\lambda,$$

where $\beta > 0$.

Use a Taylor series expansion with respect to λ

$$e^{\lambda^{2}\beta}v(x,\lambda)v^{*}(\xi,\lambda) = \sum_{j=0}^{\infty} \frac{(-i\lambda)^{j}}{j!}H_{j,n}(x,\xi,\beta).$$
(40)

In the homogeneous case, we have

$$v(x,\lambda)v^*(\xi,\lambda) = e^{-i\lambda(\xi-x)},$$
$$H_{j,n}(x,\xi,\beta) = \beta^{\frac{j}{2}}H_j\left(\frac{\xi-x}{2\sqrt{\beta}}\right),$$

where $H_j(z)$ is the classical Hermite polynomial. Let

$$H_{j,0}(\xi - x, \beta) = \sum_{k=0}^{j} h_{k,j} \sum_{\alpha + \beta = k} (-1)^{\beta} \frac{(\alpha + \beta)!}{\alpha!\beta!} \xi^{\alpha} x^{\beta}$$

be Hermite polynomial expansion on powers ξ, x . Then for their piece-wise homogeneous analogues $H_{j,n}(\xi, x, \beta)$, so called Hermite-type polynomials, we have the representation

$$H_{j,n}(\xi, x, \beta) = \sum_{k=0}^{j} h_{k,j} \sum_{\alpha+\beta=k} (-1)^{\beta} \frac{(\alpha+\beta)!}{\alpha!\beta!} \xi_n^{*\alpha} x_n^{\beta}.$$

In view of (10) we get

$$u(\tau, x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2(\tau+\beta)} \cdot \frac{1}{j!} \int_{-\infty}^{\infty} H_{j,n}(x,\xi,\beta) f(\xi) d\xi d\lambda.$$

To simplify last formula, we change the order of integration and compute the inner integral with respect to λ , substitute x = 0. Then

$$\frac{1}{2\pi} \int_{-\infty}^{\infty} (-i\lambda)^j e^{-\lambda^2(\tau+\beta)} d\lambda = \frac{1}{(2\sqrt{\tau+\beta})^{j+1}} H_j(0)$$
(41)

Taking into account the well-known formula from [6]

$$H_{2j}(0) = \frac{(-1)^n (2n)!}{2^n n!}, \ H_{2j+1}(0) = 0, \quad (42)$$

we get new analytical representation for thermal field in piecewise-homogeneous bar

$$u(\tau, x) = \sum_{j=0}^{\infty} \frac{1}{(2\sqrt{\tau + \beta})^{2j+1}} \frac{(-1)^j f_{2j}}{2^j j!}, \quad (43)$$

where

$$f_{2j} = \int_{-\infty}^{\infty} H_{2j,n}(x,\xi,\beta) f(\xi) d\xi.$$

8 Inverse Cauchy problem for the heat equation

The inverse problem [10]-[13] for the heat equation of an infinite bar is to find the unknown initial distribution f(x) of thermal field by the known thermal field $u(\tau, x)$. This problem leads to the solving of first type Fredholm integral equation [23]:

$$\int_{-\infty}^{\infty} \frac{1}{2\sqrt{\pi\tau}} \exp\left(-\frac{(x-\xi)^2}{4\tau}\right) f\left(\xi\right) d\xi = u\left(\tau, x\right).$$
(44)

The left side of equation (44) is the Poisson integral, [23]. As it is shown in [23] the solution of equation (44) is:

$$f(x) = \frac{1}{\sqrt{\pi}} \sum_{j=0}^{\infty} \frac{u^{(j)}(0)}{(2\sqrt{\tau})^{n+1} j!} H_j\left(\frac{x}{2\sqrt{\tau}}\right), \quad (45)$$

where $H_j(z)$ is the Hermite polynomials [22].

Formula (45) contains a derivatives of an arbitrarily high order so formula (45) can't serve as a basis for the regularizing computational algorithm. Consequently it is actual to find new formulas without derivatives for solution of equation (44).

We obtain two new formulas. We get a solution of equation (44) by Fourier integral transform method, see [6]-[7],

$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{\lambda^2 \tau} v(x, \lambda) \cdot \left(\int_{-\infty}^{\infty} v^*(\xi, \lambda) u(\tau, \xi) d\xi \right) d\lambda.$$

If $\beta > 0$, then the last formula takes the form

$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2 \beta} e^{\lambda^2 (\tau+\beta)} v(x,\lambda) \cdot \left(\int_{-\infty}^{\infty} v^*(\xi,\lambda) u(\tau,\xi) d\xi \right) d\lambda.$$
(46)

Because of formula (26) we get

$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2 \beta} v(x,\lambda) \cdot$$
$$\sum_{j=0}^{\infty} \frac{(-i\lambda)^j}{j!} \int_{-\infty}^{\infty} H_{j,n}^* \left(\xi, \tau + \beta\right) u(\tau,\xi) \, d\xi d\lambda.$$

We shall change the order of integration and calculate the inner integral with respect to λ . We can write

$$\frac{1}{2\pi} \int_{-\infty}^{\infty} (-i\lambda)^{j} e^{-\lambda^{2}\beta} v(x,\lambda) \, d\lambda = H_{j,n}(x,\beta) \, .$$

Finally, first new formula for the initial thermal field takes the form

$$f(x) = \sum_{j=0}^{\infty} H_{j,n}(x,\beta) \,\frac{u_j}{j!},$$
(47)

where

$$u_j = \int_{-\infty}^{\infty} H_{j,n}^*\left(\xi, \tau + \beta\right) u\left(\tau, \xi\right) d\xi.$$

Finally, we shall prove the second new formula for solution of inverse Cauchy problem.

We use (45) which can be written as

$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2 \beta} e^{\lambda^2 (\tau + \beta)} \cdot \left(\int_{-\infty}^{\infty} v(x, \lambda) v^*(\xi, \lambda) u(\tau, \xi) d\xi \right) d\lambda,$$

where $\beta > 0$.

Thank to (26), we get

$$f(x) = \frac{1}{2\pi} \int_{-\infty}^{\infty} e^{-\lambda^2 \beta} \cdot$$
$$\sum_{j=0}^{\infty} \frac{(-i\lambda)^j}{j!} \int_{-\infty}^{\infty} H_{j,n}(x,\xi,\tau+\beta) u(\tau,\xi) d\xi d\lambda.$$

If we use formula (34), then the initial distribution of thermal field takes the form

$$f(x) = \sum_{j=0}^{\infty} \frac{1}{(2\sqrt{\beta})^{2j+1}} \frac{(-1)^j u_{2j}}{2^j j!}, \qquad (48)$$

where

$$u_j = \int_{-\infty}^{\infty} H_{j,n} \left(x, \xi, \tau + \beta \right) u \left(\tau, \xi \right) d\xi.$$

References:

- Ja. S. Ufljand, Integral'nye preobrazovanija v zadachah teorii uprugosti, Leningrad, Nauka, 1967, 402 pp.
- [2] M. P. Lenjuk, Integral'noe preobrazovanie Fur'e na kusochno-odnorodnoj poluprjamoj, *Izv. Vuzov. Matematika*, Volume 4, 1989, pp.14-18.
- [3] L. S. Najda, Gibridnye integral'nye preobrazovanija tipa Hankelja-Lezhandra, *Mat. Metody Analiza Dinam. Sistem, Har'kov*, Volume 8, 1984, pp.132-135.
- [4] V. S. Procenko, A. I. Solov'jov, Gibridnye integral'nye preobrazovanija i ih prilozhenija v teorii uprugosti neodnorodnyh sred, *Prikladnaja Mehanika*, Issue 1, Volume 13, 1982, pp.62-67.
- [5] E. Mogileva, O. Yaremko, Hermite functions with discontinuous coefficients for the solution of fractal diffusion retrospective problems, *International Journal of Applied Mathematics and Informatics*, Issue 3, Volume 7, 2013, pp.78-86.
- [6] F. M. Mors, G. Fishbah, Methods of theoretical physics, New York, McGraw-Hill, 1953. Part I, 998 pp.
- [7] O. E. Yaremko, Matrix integral Fourier transforms for problems with discontinuous coefficients and transformation operators, Reports Of Academy Of Sciences, Volume. 417, Issue 3, 2007, pp. 323-325.
- [8] O. M. Alifanov, *Inverse problems of heat exchange*, Moscow, Nauka, 1988, 279 pp.
- [9] O. M. Alifanov, B. A. Artyukhin, S. V. Rumyancev, *The extreme methods of solution of ill-posed problems*, Moscow, Nauka, 1988, 288 pp.

- [10] J. V. Beck, V. Blackwell, C. R. Clair, *Inverse Heat Conduction*. *Ill-Posed Problems*, New York: John Wiley and Sons, Inc., 1985, 312 pp.
- [11] V. K. Ivanov, V. V. Vasin, V. P. Tanana, *Theory of linear ill-posed problems and its applications*, Moscow, Nauka, 1978, 206 pp.
- [12] M. M. Lavrentev, Some ill-posed problems of mathematical physics, Novosibirsk, AN SSSR, 1962, 92 pp.
- [13] A. N. Tikhonov, V. Ya. Arsenin, *Methods* of solution of ill-posed problems, Moscow, Nauka, 1979, 288 pp.
- [14] G.-C. Kuo, Y.-H. Hu, W.-L. Liaw, K.-J Wang, K.-Y. Kung, it Transient Temperature Solutions of a Cylindrical Fin, WSEAS Transactions on Mathematics, Issue 2, Volume 10, 2011,pp. 47-55.
- [15] Ko-Ta Chiang, G. C. Kuo, K.-J Wang, Y. F. Hsiaod, K.-Y. Kung, Transient Temperature Analysis of a Cylindrical Heat Equation, *WSEAS Transactions on Mathematics*, Issue 7, Volume 8, July 2009,p. 309-319.
- [16] P.-Y. Wang, G.-C. Kuo, Y.-H. Hu, W.-L. Liaw, Transient Temperature Solutions of a Cylindrical Fin with Lateral Heat Loss, WSEAS Transactions on Mathematics, Issue 10, Volume 11, October 2012,pp. 918-952.
- [17] Axler, S.; Bourdon, P.; Ramey, W., *Harmonic Function Theory*, Springer-Verlag,1992.
- [18] Watson, G.N., *A Treatise on the Theory of Bessel Functions, Second Edition*, Cambridge University Press,1995.
- [19] E. T. Whittaker and G. N. Watson, A Course of Modern Analysis, Cambridge University Press, 1927; reprinted 1996.
- [20] F. R. Gantmacher, *The Theory of Matrices*, AMS Chelsea Publishing: Reprinted by American Mathematical Society, 2000.
- [21] Temme, Nico, Special Functions: An Introduction to the Classical Functions of Mathematical Physics, Wiley, New York, 1996.
- [22] George Arfken and Hans Weber, *Mathemati*cal Methods for Physicists, Harcourt/Academic Press, 2000.